Kendriya Vidyalay Sitapur (first shift)
Periodic test 2023-24 Class- 10.
Subject -social science

Time. - 1:30 hours M.M.-40
Instructions

1- All questions are compulsory.
2- marks are indicated in each parts of questions.

WWH/ Multiple choice questions ( 1x7=7)
Que.1- U%T.1- ﬁmﬁr@aﬁﬁaﬁﬁ%uﬁmwaﬁwﬁa Y1? Who among the following was the
architect for the unification of Germany?
a) 37T ated faTATHR/Otto Von Bismark. b) &R fafera#@/ Kaiser William
c) &) W&/ frederick IIL. d) w@qﬂﬁ?ﬁ/ Giuseppe Mazzini
Que.2- 96T 2- m#@mﬁmﬁﬁwm? / When and where Congress adopted demand
off purn Swaraj?
a) 1929, ¥IEIY/ Lahore. b) 1920, Fi'l?Tg'\"/ Nagpur. c) 1885, ?lfl;Telé'/ Mumbai. d) 1927, #gIH/ Madras
Que.- 7eeT-3 fA=Taf@d 7 & fora Aetar arfafafer o off foresfantor 3 wed 311 Aereret f&am &2 Which
one of the following human activities has contributed most in land degradation?
a) Goldl /mining b) mml Jover irrigation c) Hﬁﬂ'ITUT/overgrazing d) aﬁ@l’m’é’/Deforestation
Que.4-TAFATITEIT 7 & Pl 1T T5T & AT &/ which of the following is located in the state of Rajasthan?
a) E@Wﬁa—&/ﬂger Reserve b) TRTHT ToToi1d AR /Sariska Wildlife Sanctuary

¢) FIST SIATS UTeh /Carbet National park  d) ) STIEITG 11Tl UTeh/Bandhavgarh National park.
Que.5- Fg 3R T TIHR & 3Telar STeoTIH H Teh dIEl dig Sl THR ¢ 3R arer & Heafarad

Apart from the central and state government Belgium has a third kind of government as well as identify this third

kind of government from the following option.
a) S di e IH/ Democratic government b) HHATSIATET I /Socialist government
c) WW/ Community government d) 3 HIh/ Liberal government
Que.6- TAFITA T 3 & et AT S "Th ATY 31T AGRAL" T 3GT8I0T &
Which of the following countries is an example of "coming together federation"
a) WWW/United State of America. b). #Xd /India «¢) Fq?-T/Spain d) m/Belgium

Que.7 5T safed $r 37T 9a 31T ST 8/ The average income of a person is called:

a) =il;?vl’3-1'I'41I'/Total income b) Qﬁw'%cfm/per capita income

c) Hahol 3T/ Grass income  d) TI'@'JZH‘RI/ National income
[T 3T 9L (2X3=6)
i T 10 tR1am 1 9¢ 3R =i T a7w geai & 3aR G|

a&ﬁﬁammﬁwwmlwwﬁﬁ@émm%m%m
qﬁﬁﬂﬁ#ﬁ%ﬁ@rﬁﬂl‘é%ﬁt@%ﬁ&mﬁ%ﬁv 0T TeTeT &Y HhaTl £ Wﬁ&ﬂmmﬁm
X TN 3R GE Y Barer o TN | g, T aer o ARer. AT NSC b Tk g 1 & & wialt Y 50 et
I AR AT gohar g | fe@md i F ey 3 geTa H gH 3TF 39T AT H FAhd 8| 3T
AT NTST o T 7T 7er A1 a7 § 3R O 8 Wl hr s & fov ey @idr oS § | seq s a7
I ASTITR FoToT 81 Tehcll & ToTEH ITCURISTINR ehT HHEIT &he &1 Hehcll & |
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Read the paragraph given below and answer the questions given below.

Take the case of Lakshmi with her two-hectares plot of unirrigated land. The government can spend
some money or bank can provide a loan to construct a well for her family irrigate the land . Lakshmi will then be
able to irrigate her land and take a second crop. wheat, during the Rabi season. let us suppose that one hectare
of wheat can provide employment to two people for 50 days. Show two more member of the family can we
employed in her own field. Now suppose a new dam is constructed and canals are dug to irrigate many such
farms. This could lead to a lot of employment generation within the agriculture sector itself reducing the
problem of underemployment.

Que.S—H&?ﬂWﬁﬁﬂmaﬁ%ﬁ?ﬁg/ Lakshmi related to which economic sector?
Que.9- 9a1.9- aI&HT TiFAToiad & & forarar Fr fora Aol & a8/ which one of the following categories of

farmers is Lakshmi related to?
a)dsl/ big  b) ALIH/medium. ¢) Fﬁﬂi?-r/marginal d)f’fﬁmaqg /agriculture labourer
Que.10- ﬁaﬁwwwﬁ@ﬁmaﬁrwuﬁﬁﬂa%mma Write one means of irrigation

generally comes under the public sector?

AT H HeT §9 § TGN A &-E0T TUTTl FeTel 1 378 2, T TR AT o1 g7 gl 8, g
TR ARG TG AR T TIPR T I8 FIT ¥, 316 3 FerdTe T T IERT SR Gamarat 3R A9
aTfereT3iT o &9 # ST I 7| e 8t T &t e 31 fafiest THgT I 3eleT-3eler JHR ST a8 1
e Tve §9 Y S AR 3R T TR 5 ey Ry 1k o1 et I faeRoT et aal &1 54
T, 3 it gior enfAe &

The constitution originally provided for two-tire system of government the union government or what we call,
the central government representing the union of India and the state government later a third tire of federalism
was added in the form of Panchayats and municipalities . As in any federation these different tirse enjoy separate
jurisdiction. the constitution clearly provide a three fold distribution of legislative power between the union
government and the state government. Thus, it contains three lists.

Que.11- ART H TIHR & fohdel €T &/how many tire of government in India?

Que.12- ﬁ?@ﬁmﬁﬁmajﬁﬁmﬁwﬁ/ foreign affairs kijiye subject off whitch list?
Que.13- TR & dIEY TTAX T FAT ATH §/ what is name of third tire of government?
Assertion and Reason type question (1X2=2)

In the questions given below there are two statements marked as Assertion (A) and Reason (R) . read the
statements and choose the correct option.

a) Both (A) and (R) are true and (R) is correct explanation of (A)
b) Both (A) and (R) true but (R)is not correct explanation of (A)

¢). (A) is true but (R) false

d). (A)is false but (R) is true.

3TAFUT 3R FHROT TR T Y& (1X2=2)

T o aTw sreatt # oY et 31yt (U) 3R HROT (31R) & &0 & FAEa &1 et 1 ud 3R a8 Ao g+
T) g (T) 3R (3R) TT & 3R (31R) (T) T TET TTCRIOT &

&) (1) 31K (31) arett e § et (31R) (T) T /ET TTSEFOT G T §
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| (0) T § AfheT (3IR) TTerd &
31| (T) ITeTd ¢ offehe] (IR) T &
Que.14- Y (T) W*WWWWWW?W YT/Assertion(A) ine Avadh peasants

were led by Alluri Sitaram Raju.

$hUT(R) II%THTWWE#IEITI % T&T® 31eTeleT |/Reason(R) The movement here against talukdars and

landlords.

Que.15-h Yo (T) eldT-3 el AT o 3TeTaT-3Te1eT [dhTaTcHS H&'J@?T%/Assertion (A) different people have
different developmental goals.

FRUT(R) AT TTITAT, AT, ﬂTﬁTﬁW IATEd &/Reason(R) People want freedom, equality, security
and respect.

HﬁWWQQH/Very Short Answer type questions (1X5=5)
Que.16- AT 3T G oh ool Tl bl TEIT oh T2l oh &Y 3 Thol STlet ATel el &l el HEAT Heollell &/

total number of children attending school as a percentage of total number of children in the same age group is
called.

Que.17- 319 fordT 2t 1 9fer cafard 3T 1 IT0TAT H8 HE31/How will you calculate per capita income of a

country?

Que.18- m%MaﬁmaﬁaﬁamﬁWﬁaﬁrmﬁmhich two languages are prominently

spoken by Belgium nationas?

Que.19- mﬁaﬁﬂmmﬂﬂdlq dg(—i{sqoh &/What is ethnic communities is in majority in Sri Lanka?
Que.20- mﬁ@ﬁﬁmwwmwwwmt is the main cause of land degradation of Punjab?
Tch Asq AT dTeFT Yeh X ohl 3dY./One word or sentance type answer.(1X5=5)

Que21- IRAT gogoitd GL&TuT I THTH v IR fohT 31T AT/When was Indian Wildlife protection act was

passed?

Que.22- 'fqarg’ WW@@W%/'Marriage 'subject is related to which list?

Que23- Wﬁmmmmw YT/ Majoritarianist constitution was adopted by.
Que.24- W%WW%/BMI stand for.

Que.25- gtﬁgéaﬂmnﬁ oY SgaITdl §/Hidden unemployment is also called. ?

a’gﬁﬂ'ﬂ'q%ﬂ/smrt answer type question (2X4=8)

Que.26- WWQHW%/What is Simon commission?

Que.27- WQWW “WW?W" &, 39T 3RIcT SdTU/Multi purpose project are "

temple of modern India" justify it?

Que.28- T&T 3R W% BT & FAT 37X &/ What is difference between Rabi and kharif crops?
Que.29- Wm@rﬁamﬁrwavﬁﬁaﬁ/ Describe the features of federal government?
&TeT 33T et /Long answer type question (1x4=4)

Que.30- AT TeITeT IS I SITEAT Y/ Explain the Napoleonic code.
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Or/ T

azﬁ@rwﬁmmaﬁm/ Explain the nation building process of Italy.

AT R/ Map work (1X3=3)

Que31-- IR & ol AT R AT f@d TUT g2ATT / Locate the following place on the political map

of India.

1) Movment of Indigo planters/ aiTeT STITTeT ATToIehT T TGl |
2) sardar sarovar dam/ &R TRIaY ST¢T|

3) Major area of rice/ Wa:rmg'@aﬁ'ar
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